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2.6 Derivatives of Inverse Functions Cont.

A\
ex: Evaluate. \\
a) sin"(—l) = 1

2 J

[0

b) arccos(-1) = 1 |

A

2\




Belly functions Sunset functions
Arcsinx (LOC04 X

qrecseX N¢secx

qrctanX A ¢ eotx






ex: Evaluate.

9 sin(tan"(—z)) = B
4 S

14—- S5 -3

d) cos(arcsin x-=1 ) = \[—X‘*2X
l
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Let u be a differentiable fu‘nclion of x.
(L
= I{LL

d

dx

[arcsin u] =

(;—![urclun ul = U

X |+
1

{;—i[urcscc ul = v

|wiNu> -1

p
THEOREM 2.18 Derivatives of Inverse Trigonometric Functions %

\

d[ r > u] %_
==1arccos =
dx ‘ "‘IA-‘L

d

—[arccotu] = __—W

dx |+ u:h-
:—;[arccsc wl= —\h
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ex: Find the derivative.

a) y=sin"'(2x)

i = o N
J VI-4x>




ex: Find the derivative. (677(5- = 8”%

b) f(x)=sec” (e“)

=77 1
Jelx]\)emx N r \Jelclx__ l




ex: Find an equation of the tangent line to the graph of f at
the given point.




Find the derivative. Sin (R0 5)

"

e = L
y= cos(arcsinx) > &
'= -sin (resi) '\[_“l—""

y il X J YI—x*




Find the derivative. \
X
(9]

y= cos ercsinx,} - e ‘
}j = Jl -'XL

Y =30 - (3= Yo




